>HIT

PORTABLE HITTING STATION

TRANZHIT™ PORTABLE HITTING STATION
PATENTS APPLIED FOR

ASSEMBLY/INSTRUCTION MANUAL

—

e/
———E
——E
SPORTSATTACK
SPORTS ATTACK LLC. | 800.717.4251 | www.sportsattack.com

| 77vg3sVeE




THANK YOU FOR PURCHASING THIS SPORTS ATTACK, LLC. EQUIPMENT.

Proper assembly, careful operation and consistent maintenance of this equipment will ensure that
it gives you the very best performance and a long, economical service life.

This manual contains the information needed to properly set up the TranzHit Portable Hitting Machine,
and to use, care for and maintain the TranzHit in a manner which will ensure its optimum performance.

TRANZHIT PARTS LIST

(A) Center Base Crossmember
(B) Front Base w/Casters
(C) Rear Base w/Casters

(D) Feeder Stand
(E) Pitching Machine Stand
(F) Feeder Support Arm

HARDWARE LIST

(4) Casters
(16)3/8" 16 x 1 1/4 Bolt
(32) 3/8" SAE Washer
(16) 3/8" Nylon Locknut

(A, B, C) Base
(4)1/2" 13 x 3 1/4 Bolt
(8) 1/2" SAE Washer
(4) 1/2" Nylon Locknut

(D) Feeder Stand
(2) Top mount-5/16" 18 x 2 1/4 Bolt
(4) Top mount-5/16" SAE Washer
(2) Top mount-5/16" Nylon Locknut
(4) Bottom mount-1/2" 13 x 1 1/2 Bolt
(8) Bottom mount-1/2" SAE Washer
(4) Bottom mount 1/2" Nylon Locknut

i)
[J)
-
~+
(72
S
-
[J)
-
Q.
=
()
-
D
r
(72)
P

(F) Feeder Support Arm
(1) Top mount-5/16" 18 x 2 Bolt
(1) Top mount-5/16" Nylon Locknut
(1) Bottom mount-5/16" 18 x 2 1/2 Bolt
(2) Bottom mount-5/16" SAE Washer
(1) Bottom mount-5/16" Nylon Locknut

(E) Pitching Machine Stand
(1) Top mount-Horizontal Lock Handle
(1) Top mount-3/8" 16-Acorn Nut
(1) Top mount-3/8" 16 x 1 1/2 Caddy Bolt
(4) Bottom mount-1/2" 13 x 1 1/2 Bolt
(8) Bottom mount-1/2" SAE Washer
(4) Bottom mount-1/2" Nylon Locknut

DIMENSIONS
Footprint: 59.5" D x 53.5" Wx 61" H
Weight: 165 LBS

TOOLS NEEDED
1/2" 9/16" and 3/4" Wrench/Socket Wrench

TRANZHIT™ PORTABLE HITTING STATION
Sports Attack, LLC. 800.717.4251 www.sportsattack.com 2



INSTALLING CASTERS

Using 3/8" bolts, washers and locknuts, align
caster and base hole pattern. Insert bolts
downward. Use washers top and bottom.
(See Fig. 1)

REAR (A to C)

-
=
o
=)
N
-
=
>
n
0
D
3
=

<

BASE ASSEMBLY

Using 1/2" bolts, washers and locknut, attach
(A) Center Base Cross Member to (B) Front
Base. Then attach (A) Center Base Cross
Member to (C) Rear Base. Be sure to use
washers inside and outside when attaching.
DO NOT OVERTIGHTEN. (See Fig. 2-4)

Figures 4

TRANZHIT™ PORTABLE HITTING STATION
Sports Attack, LLC. | 800.717.4251 | www.sportsattack.com 3



INSTALLING FEEDER STAND

Using 1/2" bolts, washers and locknuts,
attach (D) Feeder Stand to Base.
(See Fig. 5-6).

Figure 5

-
=
o
=)
N
-
=
>
n
0
D
3
=
<

Figure 6

INSTALLING FEEDER

SUPPORT ARM F,-gure

Using 5/16" bolts, washers and locknut,
attach (F) Feeder Support Arm to (D) Feeder
Stand. (See Fig. 7).

INSTALLING PITCHING
MACHINE STAND

Using 1/2" bolts, washers and locknuts,
attach (E) Pitching Machine Stand
to Base. (See Fig. 8).

Figure 8

as

TRANZHIT™ PORTABLE HITTING STATION
Sports Attack, LLC. | 800.717.4251 | www.sportsattack.com 4



INSTALLING TEAM FEEDER
TO TRANZHIT

Using 1/2" bolts, washers and locknuts,
attach front of Feeder to Feeder Stand

(See Fig. 9) then attach back of Feeder
to Feeder Stand Support. (See Fig. 10).

Figure 11 shows installation completed. Figure 9

-n
12
1
o
1)
=
>
7
~*
)
)
=
o
=

Figure 10

Insert black Rod Tray Support into top of
Feeder Stand. (See Fig. 12).

Figure 12

TRANZHIT™ PORTABLE HITTING STATION
Sports Attack, LLC. 800.717.4251 www.sportsattack.com 5



INSTALLING PITCHING
MACHINE TO TRANZHIT

To attach the pitching machine to the
TranzHit, lift machine up and slide yoke into
(E) Pitching Machine Stand. Next, you will
need to remove the Ball Shoot Assembly
(See Fig. 13) and attach the Team Feeder Ball
Shoot Assembly using existing hardware.
(See Fig. 14.)

IMPORTANT: Make sure bottom wheel spins
freely once installation is complete and
before turning on machine.

INSTALLING BALL
TRAY ASSEMBLY

Attach the back of the Ball Tray Assembly
to the black Rod Tray Support (See Fig. 15).
Then align the front of the Ball Tray Assembly

to the Ball Shoot Assembly slide into notches.

(See Fig. 15.) The Ball Tray Assembly is now
fully assembled and ready to use.

Finally, using existing hardware, attach
the Horizontal Swivel Control Handle.
(See Fig. 16.)

Figure 14

Figure 16

TRANZHIT™ PORTABLE HITTING STATION

Sports Attack, LLC. 800.717.4251

www.sportsattack.com

P
=
a
>
S
Q
<
o
)
>
S
)
=)
)
~*
o)
)
:l
)
>




